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13.3 do-while O

OO000D0O0000 do-whileODOOODODO. do-whileOODODDODOOOOOOOODOOO.

foo N

{
01;
0 2;
0 n;
Iwhile(O O O);
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goo,0o0booboboobooboobooboob.

()00000000 : 000000000,000000000.
(2)0000000 : whileJOODOOOOOOOO,00)0000 do-whileDODODOOODOOOO,0
00000 (1)oooo.

gboboobOooboooooboobooobobooooboooooboon.

D000 13.3
gbooobooobooboobobo,obobobobobobooboobooboobooog.

/* do-while JO0O0O0O0O0O0OO0O0O0ODOOOOO */
/x 000000000 =/
#include<stdio.h>

#include<math.h>

main()
{
int a,b,m,n,r;
scanf ("%d %d",&a,&b);
m=a;
n=b;
do{
r=m}n; /*m0n000000000, OODODOOO xO0O0 %/
m=n; /*n000mO00 %/
n=r; /*r000n000 */
}while(r!=0);
printf("G.C.D. of %d and %d is %d\n",a,b,m);
¥
goooo :

(h)ooooooooooooo)oo0oUoo,000000000000010000000.

(2)whileO, for D 0000000000000 0O0O0OOOO,do-whileOOOOOOO. OOO, 0O
000 100000000000000D0000D000 do-whileOODDOOODODODO.

(3000000000000 OO0OOUO. Dooooo.

/x 00000 =*/

do
{
printf ("beautilful life !\n");
}while(1);
}
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14 O0O0O0O0O0OOOOOOO0OO0

oo0o0o0ocooopooooooooooooooo,0oooooooooooooOo,0o0ooo
oboobooboobo.oo,0bbo0oboobooooooboooboboooboobooboonDn
oo,b000000000Db00b000D00.

e JOOOOODOODOO

e (JDODUDODDOO)ODDUDDODOUDDOOO
e JOOODOODODO

e JOOODOODOODOOOODOOO

gboooooboooooboboooobooboooobooobo.

14.1 0000000000

gboboobooboobooboobobooboboboobooboon.

14.1.1 000 (indent)

000000000000 000 (indent) 000000000000 ODOOOOOOOOOO.

/« 00000 =/
for(i=0;i<=9; i=i+1){
n=mn+1;
printf ("%d\n",n);
¥

uobO,00000000000000000000O000O0000O000O0O0O00bO,000000D020
goooooo.

/ 0000000000000 %/
#include<stdio.h>
#include<math.h>

main()

{
int t;
t=0;
while(t < 10)
printf ("t=Y%d\n",t);
t =1t + 2;

}

D000 14.1|(0 IMSODDD)
O0do0bo0oooooooooobooboooooooooooboooooooooooooo. ooooo
gooooo,oo0oboooooon.

0 0d00,0000b0000doooooooooooooooo, cr-Ccooonoooooog.

ugbo 390000
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14.1.2 0O0O0O0OO

cooooooooOopooooOoooooooOoOo,0ogggooooo0og,0cbopgooooDoo
obobooooooooobo.ob,00bo00obo0obooocobo0oboooooboboooa.

Doooo | oo 0o
+ = OoO0g | =x+ value
—= 0000 | x =x— value
* = D000 | z=uxxvalue
/= ooog | x=az/value

go,0b0ooboo,bobboobboboobooboon.

o DOOOOOO :

gb:0boobi1ob0oboobbooboob.

godd 1: count+ +;

ol :countd000o0obOOooOOooOoooOOooOooon.

ddgd 2: + 4 count;

gb:count 000000000 OO0OOO0DOOODOO.

o DODOOODO :

ugb:dboooboi1booobobooboon.

godd 1: count— —;

ob:count 000000000 OO0OOO0DOOODO.

odgd 2: — — count;

Ub:count000000000O0O0OO0OOCODOO.

gbobooboooooobooobooon.

gbob 14.2

boboobooobooboooooboooboobO,b0b0o0b0o200b00000000,000000000

gboobooboooobooobooobooon.

/0000000 (OO0 1) %/
#include<stdio.h>
#include<math.h>

main()
{

int x=6,y;

y=x++;

printf ("%d\n",y);
}

ugbo 400000
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/* 0000000 (OO 2) */
#include<stdio.h>
#include<math.h>

main()
{

int x=6,y;

y=t++x;

printf ("%d\n",y);
¥

14.1.3 0OO0OO0OO0OO0O0OO0O,000000

gbobogooooboboboooobobobobobooob. oboooooboobo,boboba
obooooboobooobooooooooboboooboboooboo.ooob,0bo00b0o0o0o0,200
O000,0000000000000000D000,x,e,bc000O0000O0.000D0OO0OODODO
gboboboboboboboobobobooooobooooboooboboboboo,ooboooooo
ugb,00bo0oboobooo,gobooobooobooobobooboboobobooboboo,bo0oboobgao
000000000 O00D0O0. 0D00,200000000000 kail,kai2 0000, solutionl, solution2
OO0000,000000 sidelside2side30000. O0,000000000000000O0000O
g,0o0booooooboooboobooboboooboboobo.obag

for(i=0; i < N; i++){

}

000i0000j0000000. oo0,0000 1 (00)0000 1000000 oDOO,loboo
bobobobooboooboobobobobobooboooo,ob0b0o1boo00ob0ob0obOobobo
ooooooboon.

14.2 00000000000

gboooobooboooboobo,bobbooboobooboooboobobooboboooo. boaa,
O00000000define 0000000000 0O0ODOOO.

/* #define DO DDOODOOODO %/
/* 000 #define 00D ODDOODDOODOOODOOO =/
#include<stdio.h>
#include<math.h>
main()
{

int i;

for(i=1; i <= 100; i++){

n=mn+i;

printf ("%d\n",n);

ugbo 410000
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}

/+* 000 #define 00D ODODOOODOOODOODO %/
#include<stdio.h>

#include<math.h>

#define N 100

main()
{
int i;
for(i=1; i <=N; i++){
n=mn+i;
printf ("%d\n",n);
}
}

14.3 OU000OO0OOO0OO0OO0

gbooobooobooobooboobobooboooan.

14.3.1 0000

goboobo,0obooooboooooooobbooboobooboobo,0cooboooooooon
oooooobooooboD.

000 |oooooo  |oooo

int 4 (UNIXOO) | —23t~231 -1

short in 2(UNIXDODO) | —215~2% -1

float 4 (UNIXOO) | £3.4x 10738 ~ £3.4 x 10%®
double 8 (UNIX 0O) | #£1.7x 10730 ~ £1.4 x 10398
long double || 10 (UNIX O00) | 3.4 x 1074932 ~ 4+3.4 x 101932

gbooobooo,booboobooboobobobooboboboboobon.

14.3.2 0000

0000000000000 0000000000000000O00OO (000000). UNIX(LINUX)
OO0000O0O000D0,00000000000D000000 shortint, 00000 float00O0O0O0DOO
O,0000000000000000000DO int0d doubleOOOOODODOOOOO. ODO,0000
gboboooobooooboobobooooboboooboobooon.

gbO,000b00000o00boooooboooobooooboboooboOobooboo. 000,00
y0O00z000000000000D00,000000

= 323 +22% 42405 (2)

Y
OcCcoooopoogno

y=3*x*x*kx+2*x*x—4xx+0.5 /* (O 1) */

ugbo 420000
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O000000,000y={Bz+2)x—4}z+050000000000000,00000000000
goo.

y=((3*x+2) *x-4) *x+0.5 /x (O 2) */

00 (010000 200000000000000000000000O0O000OAO..

| |oooo |ooooo | o |

01 6 3
02 3 3

000,00000000000000000,(02)0000000000000000000O000O0O0
ugboobooboobooooboooobo,0bobbooboboobooboobobo.booboa,oobooobao
bobooboboooboboobooboobooboooobOo.oboboooo,obooobooon,bo
boboboboboobooboooooooooboooOoobo,obo0oo00obobobobobobobo
gboboobooooooobooboboboboo,oboboboboooobobobOobobobo
gbobooboooooobooobooon.

14.3.3 0OO00000OO0OO0OO0OOOO0O0

gobooooboooobo,oboo0ob,0bo0boboooboboboooooooooooooooon
gbooobO,00b0000000000booooboooobooooo.boo, 0000000000
ooo,00000000000000000000D0, 00000000000 O0DOO0OO0DOODAO
gooobooooooobooo.

goboobooobooooooboooboobooboooooo,o00,0bo0obo0oooooooon
uoboooboooo,oobooooooobooobooooboooooooooooboooooooonoo
OO0000. 00000 printf000D0DODOOCOO0OO0OOODOOO,000D00D0000000O0O0DO
ooboooobooooboooboboobbooooob. booobooooobooobooobobooobobooooDoo
goooooooooon.

15 00001

0000000000000000000000000000000000000000000000
0,000000000000000000000000000000000000000000. 000
00,0000

flz) =0 (3)

000000000000000000000000000000000000000000
0000000000000,000 f(r)=2?>-e?00000,2=+/e00000000000
000000000,00000000000000000000,000 @ f(x) = asz® + asz* +azz® +
azr’ +a1x+ao 0000 f(x)=0000000000. 00000000000 (000)000000
000000,00000000000000000000

ugbo 430000
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10 T T T T T T T

0 11: oooooo 2000000,

15.1 000200000

000000000, fiz)=22-¢?>000,000 (0000,e0000000 x=4va)0000
00000000o0oo. oo, f(e)=000000 : (m,22)000000000000O00OOOOO
O000000.000 f(x)000000000000000O0D0O0O00O0ODO0O0OOOO0O0OOO. OO0
O0,z=x10 x=2, 0000

T, = %(xl + x2) (4)

00000. 00000000000 1100000000. f(z) 000000 f(x;)0000000,
f(z)=000000 (2,2,) 000000000000000,00 (21,22) 000 ;0 2. 00000
00.00, flz) 0000 f(2,) 0000000,00000 2,0 2,00000000. 000000
00000000000000,00000000000000000.000,00000000000
0000,0000000 21,2,0000 f(z)=000 :000000000000,00000,00
000 f(z)=0000000000000000. 000000000 2000000000.

00000000000000000 CO00D00000000,00000000000000000
00oo0ooooon.

000D 15.1) @ LMSODOD)
flx)=2?-2=000000,0000000002000000000.0000002000000
ooooooooo,oooon.

(H)ODDDDODOOO0000 |21 —22/0107°0000000000000 00,0 20

X=%*kkkkk

00000000.000,0000000 (0,2006)00000.
(2)000000i000000 00 (00000)0000 V20000 :d=|v2—|0

i=1 d=*skkkkxk

ugbo 40000



OO00000000D0 ID00O0 2007 #5 ugb 0000000000 o0 oo,00 0

i=2 d=kkk*kxk
i=3 d=*skkkkxk

goboboooboog,bboodbbooob,g0obooobbooobbooobboooon
oo.

0OLMSOOOOOOOOOOO ()oooooooooooooo.

0 000000000O000oOo0oU0ooOo (040)0 (LMSOOODO |DOO0ODOOOOO.

15.2 000000

gboooboobooooobooooboo,obooooob0obooooobooooboooon.
00000000 f(x)=000000 z=2000 y=f(x)000000000O0O0:

y = flzo)+ f (wo)(z — 20) (5)
OzO00000 :
v = 2 J{f(”;?) (6)

U000z 0000000000, 000000007»0000000»+1-000000000000
oood

(7)

xn-{—l = Tn — f’(x )
n

0000000,000000 f(x)=0000000000.
flx)=2?-e’000000000000000000470000000000. 000000000
obooooooooboobooog.

0000 15.2[(0 LMSOOODO)
f(x):x2—2=0EIIZIIZIEIEI,DDDDDDDDDDDDDDDDDDDDDD.DDDDDD 2000
gooboooooobooo,oo0on.

(1) Zp, 21 000000 |2y — 24| 0 10°000000000000 00,0 20
X=kkkk kK

O0000000.000,2000002006000000.
(200000000000 2, 0000 Vv20000 :d=|vV2—1;0

i=1 d=*skkkkxk
i=2 d=*skkkkxk
i=3 d=kkk*kxk

ubo 450000
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gboboobobob,0obobobobob,0boboboboobobobobobOoboooba.

00,00 |0000 15.1((2)00002000000000,0000000000000000

gboooboooooon.

0O LMSOOUOOOOOOOOO (1))booooooooooooog.

OO0 LMSOOOO
ooo

fl) = 2> —4x+1=0 (8)
goooobbbdooooooboboooooobbbobo,ooo

X=kokokokok

gbobooboooooobooobooon.

ugbo 460000



